18 (KR) 28 (£) 7H (OK) 8H (X) 9H (&)
iz BEmf —ANEY | [#iz Banf —ANEY | [wus BRf —ANEY | @z BR% —AEY | |#mzse BR% — A&y
ERDE ERDE ERDE ERDE E%RDE
EIES TR 50| £ [HAX(E5) 60| X [HEX(E5) 60| | X |HEEX(E5E) 60| & [ayRsSy 50
*é 1k DAY 50 E BEEXK(FE) 70 Et BEX (R 70 Et BEXK(FF) 70| % |3y 70
5 A Xz Rt 6l | Xz Rt 6l |2 Xz FRiE 6| |5 |EtAih 7
I 206 knEx Fit 7 knE it 7 knE it | | |BEAESEH 3
S 3 S % |BIE R 50g 0.4
LY [mes s maL2x2m) 12 |2 |&E 206| |o  [4EL 206 |3 |4 206 |1+ | LA 4
5 |ms ttemuLexzm 8 ¥ AN ek 1
S |EEECesnt 2o 40| |’ bbbl 35| [P |paiexzmzsqz) | Y |BAEifsLF 20| |~
e o] |V [athis 6| [V [mE i Jr EE ], [F2 206
LA RUEEHE 50| |\ Bt 38 |4 BHLEE o1 [ OB FRE (Fvh) 1ke 65| |z
) REKE 20| | |[L£IW 25| |z, [OWESBTFGYN ke 30| g |[RELEFR 40 B 1 RAL (2 x 2om) 15
4 |zyr®dx2xo. 3m 10| = |EB¥ 3 It DkE ELY) 25| 5 AS 10| |&F  |me st muLex2m 10
E VA d)) 03| |I¥ [hhZF 2| |1 |ZES G -5mES) 20| |5 |HookEGk—L) 10[ (K [R—ar (&) 5
BALIZAIZK 05| |V [TARA ol P A 15 CBLEHE ke 5/ 1B |BAESHE 1
5 BS54 i ]|, == 0.1 f; Lot 10 2: EB I (R ALY) os| |2 [xiR 35
ST os| |1 |Z al |f |ohoEsE ke 7 ;E BaLEE 117 |RLEEE 40
o LBFILKE 3k 25| | £ - [HSYH H|p [BBLZAIK 08| [» |F¥RY 25
5 |E@rrFeyT ke 2| v |EBYRY 20( |1+ |[L&IW 42| | [HSEH 1 & [£8Y 1
F  |@rersss— 200¢ 02| |K AL L 25| | | 22| |F |[wrerrFeyd ke 5 AS 7
Yo RRESHE 1| |AB 5| |=  |CEH 02] |F  [@wrerivs— 2008 025| |7 |HS&iH 1
||~ =t 05 X [L&SW 25| (P [HLE 1| [Lesw 35| [A |@hBR—T 3k 3
- [mrE—v—2 o1 |, [&E 2 i BIVE 2L 1| |7 [erez—7 sk 3| |0 (& 0.4
7 [FEravus 05| |5 |LEk 08| |5 % 20| |2 |FEaz 25 77] LS 0.03
5 |BiE 03| |5 |Z—=EvED) 1 5 |=iEE 08| [z [FFravvAt 0.4
5 [SLLS 003| | |[Z—EUFEI#A) 1 [ [FvRY 17| | |FEXrarvA 045| [ |B—UT 0.1
2 & 20| | M |REAOL 30| |Z |[BE ol | |i& 85
v T [EEGYM) ke 25| (B |L&SK 12 SiRE 0.15| |Z
Y |ze35Y 5| 't [ErEEm 20| |®  [epon @ soos 1 EII CFEih 1] |¥  [7zs8546% 20
,; 7 ZINTH A 15 AZ 5| |* 5 |TASA 1 =p35Y 25
(L) R—La—y 1kg 8 ZDEFIT(1./2) 1kg 8 () kAt I+ DY (580 25 [, = 30 (LR)h—ILa—> ke 8
MAEDELYI LY 4.5 P 3 8 B) hAEDRLYY LY 4.5
pHZ 6 NS 17
[CENIRL YR IN 15 HH% 2 AdL 30
BIVET 7ZLH 3 Bt 2
HLE®R 1 L&SW 2
Bl 1 i=t 1
b 100 CFEih 0.5
WYBIFE 500g 1
(E)3I—4 Lk $k58it 70




128 (A8) 138 () 148 (k) 158 (K) 168 (&)
kI % BRf — A&y | [#xzsa BRf —AHY | [#ee BR% —AHY | [#zsa BR% —AHY | sz BR% —AZHY
EEDE EERDE ERDE ERDE ERDE
U |BExkER) 60| |2 [TysSy 50| & |[HEX(EHR) 60| /N |3yRsRy 30| |&  |[HAXER) 68
U lgkamiex 05| |V [ausisy 50| |S [HEX(EH) I RE EDRE 30| (A [EEXER 75
§ 47 (2 X 2mRSAR) 15 I’\\ % XuE it 6 :'J % DEZAES BE 12
z  EEr 5/ [y, |&% 206 Xz E57 1 | &R 206| = & 2.1
A myzatcecExsxe 7m 5 % 8 x  |BE 1
A 5/ |4  |chmrac Fe-cattir) 30| [z |&EL 206| | |RAEFTLN—D) 35| (4 [HLEH 0.5
& | TERT ke 5| |2l [ELECesiLE(2em) 50 BiE 1.3
i |GpoucE 1 ROEEH 40| | [(BEZL N os0| |F |54 1+ |45 206
. HS545 i 05 fl A VEIERE 20| |= (AECL 70| |F [(LhFECHME 15| |2
Y HLE#R 0.5 4 AR 0.3 o Bl 2 o BAESHE 1| [~ |mm mgslexem 15
g [HIYE LA 25 |- |B5LISAIK 05| |5 BiE 02| | [A=av(GEf) 6.5 ; A b4 @LL(2x 20m) 10
L [pIceLesn 22| | |[o354 05| [ [CASA 5| |2 [RLEEZE 30| [p [EE 1
x L& 0.1 [ INA— 0.5 (& K48 2| [z I (1x3%0. 3cm) 8| |& SREE(H4a0) 15
R BB 23| |¥  [(B)FZhKE 3ke 25| |If |z &~as% 200e% 1] [ |AB 5| [5 |REEFE 30
» N=} 1| [+ (B PRI FryT ke 3 f=4aim 6| |7 FH)RULE 2| | |AB 10
b (aE 06] |K [FERESHE 1] |® T Ne— 1|1 [Frnrrzsae 1
: L |Lam 08 {’)‘ =95Y 20 |7 [Low 15 ;”é (LRWESYIR 5
= 26| |4 |PRE—Y—R 07 |5 AL 20| |4 |RA=RAON G2 001 |5 |whsexsory me 2
R ([FEROYA 06| [z [AZ 5 |z BB 03| [ |¥35H 1
5 [YIFELXIR 4l |v | BE 0.4 FLZH 05| | [SL&LD 0.04| £ |L&SW 3.4
L |AB 5 & [SL&S 0.04| |# [L&IW 1 |& [H355h 02| (» |=B# 2.2
b |EpSY 25| | X B 20| |7= KA BiE 0.3
A [ehk—ra—y 1k 1| |7 F |gOEEE 30 |7 [E20d ke 4| |2 [HLE# 1
T Lew 2.3 j’, FrAY 20 2 ELLVEIT 5| |7 [ruciEs 10 é K 60
z |BE 2| |z =1 l) 15 | [AZ 10| 5 [Ew3Y 25 |~
v |EE%E 1 (4 RIEYTZAES 10| (g |HHSS | |y |wht—ra—y ik 8l |l |ExAY 20
3 05| |& [whh—ra—r ke 8| |2 |FLbh s HVE) 05| [~ [EB%E 1l [ [KEoL 25
2 |FYZHE 15| |5 ChLEV Bt RE-500g 12| i+ |hhF 5 L&50 15| | |[AB 5
A o |BE 1.2 hHE 6 BE 15| B |t<drcus) 1kes 7
7 |sLok 5| 2 [2u—om 05 HHE 2 CEM 02| (£ [L&SKW 1
J BB 7 Z N=t 1.2 ZFL LA 3 FYTE 1 % WYBEIE 500g 1
; BLEEH 25 BiE 0.3 EE 1 ¥
o |AE 7 cL&d 0.03 2 100 BT ssiadt 60| g | HEAZNAG/E) 35
A |FhFE 5 &
~ hAHZ 6 n
HH#Z 2 A
BE 1
=Lt 105
) SvHRFvY 15




198 (B) 20H (X) 218 (K) 22H (K) 230 (%)
iz BEmf —ANEY | [#iz BRnf —ANEY | [wus BRf —ANEY | @z BR% —AEY | |#zse BR% — A&y
ERDE ERDE ERDE ERDE E®RDE
S BAXER 68| £ [BAX(E:D) 60| [C |HEEXR(ER) I e 50 (£ [HEX(EH) 60
& [smEx@E®) 75| |- [HBEX(ER) 70| |I& [HEEx(E®) e E 50| |=  [#EX(EH) 70
A etk os| |'% [z = 6| |V [memiex 05 |7 e
. KHE Bt ] | ’/ H3| 206 K¥nE F5E
g, |FE 206| |4 _ g, &AL 206 #®
7, |%E 206 4 |BALEx2mRT/R) 20| [z, [4EL 206
J\  |BHLGx3mRS5/R) 25 N A LbLiEE N 40( |FL (B KEKE 5
E |BaLEE 04| |& [EALEILTF 15 [0 [A)LblLigk 50 (LR IvyRE— X 15 | & |wry —onmmenes 35
X |Lesw 1|2 [&& 2| L A |moEcenus 2o 50| R |ftaih 5
o BB 05 (3_7; () BB b ke 50 g S= e (43EAY) s Y |reEEE as| o [@nE 2
z [E5HL(3m) 8 |¢ |ELEER 30| |z |S=hVH(3SEAY) 30| |z |zuvF(xsxo. 3m) 15 | |2EE 3
4 |[(LB)S5FH01ke 25| |5 |Frirud 20 |© | [hEH 2| |1 L&V 2.2
5 ROEERE 35| |> AS 10| |= s8e f- B (2 x 20m) (BIIRE) 15| |7 Y545 0.5 i4=f: 2.2
Ea Iy 25| |&° f=r D kE GEmYIIY) 8| |[= S b mAL (2 x 2om) (BIIRE) 10| & AL —¥3 0.5 HYA 0.8
It DK E (ERYY) 20 i FLLWF (RS5MR) 05| [k SRS 7 Y541 05| |& —k 0.01
AS 15| [ [BaLEz 03 [¥ [LsL 5| IS [/ng— 05| L [k 1.1
B (EATY) 0.7 gi BBLIZAIK 03 |F [Az 10 ’t EASESHE 2| 2
HS45H 1|z [c=a 1y [EreRy 10| [ [LeSw 1.2 /t BRALE (3 X BomA 54X 15
L&SK 08| |4y |HWAE 15 [y [BBLEE 05( [ |Z=EHE 05| ||z [CR)EEGIvR) ke 25
BHLEE 04| | [FELILYA 05| |5 |BBLIZAIK 05| |5 [FEraIVA 05| |4 |RTEEHE 28
FExoary 4 0.5 LS 3 | BB 05| |4 |BiE 03| [3 [FyH¥UH4 10
Bif 03| [ |FHE 25| | |@HER—T 3ke 07| | [SL&S 0.03| |IF  |rHookEcamyy) 15
LS 004| |Y  [EmE 003] [ [L&SW 09| |2 [& 30 AB 22
ThAh i 'f ThSh 1| [t [&s 0.1 ﬂ;l: g; BALEE 0.8
2 8 |x |Z 20 CL&S ootf | [AZ 25| |5 [YSHH 1
iR ZFil 0.45 > (A)EBLAIFA Bamhvk 5008 25 Y ] 0.5
AHPL 30| [0 [YIFELXIR 4 7K 105| (4 (LM FESCHHE 1| |5 [L&3W 1.5
Zp3Y 15[ |2 |Ew5Y 20 I | pAEDELYL Y 45| & [FEOIA 05
(LR)—)La—y 1ke 7| |F AS 5 ~ () BiE 0.2
L&50 2.3 3_7’ (LR)R—La— 1ke 8 (B)BEFILTUSSILE 25| |V [2L&S 0.04
BF 2| X |mEe 2 g Thsh 1
N=Fi L] [ P L&5K 2 e K 5
CEH 06| |z |LE%E 1
FTYTE 1 CFEih 0.5 (@) B S YUh s 25
WYBIE 500g 1
() $h = /N 30
() $h = B 40




2680 (A) 278 (X) 288 (JK) 298 (K) 308 (%)
iz BEmf —ANEY | [#iz Banf —ANEY | [wus BRf —ANEY | @z BR% —AEY | |#mzse BR% — A&y
ERD=E EXRD=E EXRD=E EXS=E EXSE
o =Y 50| % |HEX(EE) 60| = [HEX(ER) 68| B |HAXER 60| (7 |HEX(EFH) 60
L EET 50| |=  [#E*X(EH) 70| |&  [EE*XER 75| [T [seaiex 05 ||/ O K (F) 70
~ '{3 KHE B o |V [gdek 05 "j 49 (2 x 2mRTAR) 25 o [kmE Bk
5 et 206 XHuE Rt 7 4 5 BALEE 0.7 1 XpE Fit
'S 3. |FE 206( |5 |BBLIZAIK 05| |z
4+ [(MHIVLEH 10| |z, |43 206 RUEER 10| |~ |&3E 206
£ BARESHE 1 C |BALZUF 25| |4 AS 5| |&E
~N—ar (Em) 15| |B ) 9aS A BHEREL 2k 40 “b & 1| |2 (BT ERE ke 5 | BREYL (2 X 3cmR 51 R) 15
7 |mtEteninsem 30| (2 [g& 01] Y [mozcesvtem 70 Y545 0.25| [&  [goEcesnsem 40
7 [ELEEZ wl |2 [BE 1| |y [RozEa wl |7 [Em 3| [V [meEzEE 40
; |Az 0] |z [cass 8| |p  [2ESAU=e< 20 |)p [pI<BLEI 2 As 10
v [LBHL 8 |3 [K# 3 |z |AZ 15 LB 12| |4 [CTEHT Tke 5
N [T ERT ke 5| |4 |HETzAaif 5[ 1 |[CRTERT 1ke 5[ |4 [FEavyA 05| |3, [(B®b<hKE 3ke 5
& |eay 1 |15 |BLEER 17[ | |[¥345H 05| |4 |BiE 0.5 B5LIZAIZK 05
P 003| | |E—=> 3l B [Lesw 36| [¥ /(>4 1
. |ysa 0.5 Az 3 I 18] % [£3 20| | [hEH 5.5
v [yssm i L%‘ G55 05 ﬁ Ch Sk 0s| |~ 2 [z 45
. s 2| o [zEm 115 [ [ 0] |3 [EEeL 2| 2 [oL—m 1
z  |hEH 2| |z |L&SW 1.25| | | |Ee3Y 20| |54 [T 3ke 3
4 |REA4I 1oL 20 brp] 08| [ |XE 25 |7 [AZ 5 JRE—Y—R 3
A = 37 ) R 1| | BALEE 03| [F [Ew3Y 20 L&SWp 2| |F | EARESHE 2
¥ |Fxravys 06| |[*  [cASA o4 |[F Az 5| |7 |&EE 15) || [@rerrres e 2
Bif o3| |B% [B 6| |¥ |BEE 2 ! |[Le 1| X |[ganoy—2R 1
L& 0.02 L%)‘ N ST 2l |, [cEm 05 L& i
BAESHE 1| |g [Exay 17 : e 1] |% [BYBIE s00g 1 FrUR 450g 1
A=y 01| |z [ABBL 28| |y |SFEH 05| |35 BiE 038
% 5| |2 [AB 5| [ |FYUZE 1 ey B B4 (2 % 20m) 15 cL&> 0.04
1 |wertsoys~ omm ez 12| |& BOEFER 30 FExavy A 0.5
(K54/499) SyIRE—L X BEAY 10 L& 1.2 (E) /NEAYT—ER 8 AS 10 o—yxT 0.1
=5y 25 U AhE 3 2 90
)\"5 5 BROECoALE (20m) 20 i FLLW=H(RSA4R) 0.5
(LR R—La—> ke 7 AZ 10] 17, BALLEE 0.5 (87)BEIVIR 0.5
(LM FLHHE 7 5T 10/ |7 BaLIZAIC 02 FrAY 20
ABYTURLYI LY 45 fhE 5[ |1 Y54 0.5 =p5Y 25
h&HZ 6| [€ () NHR—T 3ke 3 (LR K—La— 1ke 8
HHF 2| |~ BiE 0.6 HELERLYL VY 45
EZFL LA 3| [F L&SK 0.5
Bl 1 ; FErayL 0.6 E)F—X #43ait 135
bzl 10| |p ZEH 0.2
#H ] 1
- 5 110
(@) t55Y—LT7AZ AH 40g 40




